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  

12	 Saira buys 24 bars of chocolate.

	
2

3
 of the 24 bars are white chocolate.

	 The rest of the 24 bars are milk chocolate.

	 Each milk chocolate bar has a weight of 35 grams.

	 Work out the total weight of the milk chocolate bars that Saira buys.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . grams

(Total for Question 12 is 3 marks)

13	 (a)	 Simplify    2c × 3d

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(1)
	 T = x + 2y

	 x = 3  and  y = – 4

	 (b)	 Work out the value of T.

T = .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

(Total for Question 13 is 3 marks)




